Analisi Asintoti PASSED
determinare le equazioni degli asintoti delle sequenti funzioni
2x +1
1 y:x_3 x=3, y=2
3x + 4
2 y=1_x2 x=%1, y=
3
3 y = 2x x=2, y=2
x3—8
\ o xP+1 _+\/E 1
Y= ox2—5 X=Em YEp?
x?+3
5 ly= " x=0 y=x
2 —
. y=3x +x-5 X =42, y=3
x?—4
, o x*=9 1
Y T 3x2—9x+9 Y73
3
8 y=x2_4 x=%2, y=x
x34+3x —2
9 y = x=13, y=x
x% —9
10 — (x—6)(x—3) x=0 x=28,
Y x(x—8)(x —4) x=4, y=0
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x*—3 x=1 x—lim
11 y = - 4L - 2 ’
x3—2x2—-8x+9 y=x+2
X
12| y=——m = +1
V2 + x? Y
2 _
i y=\/x +2x — 4 y=1 y=-1
x+1
4y =x+4+x2+x y=2x+=
15 |y =2x++x2—-1 y=x, y=3x
16 —i y=20
Y x?% + |x|
3x — |x + 4| — 2
17 = =45, y=
4—11-x2| ey
1(x+1) x:—l’
1 y=(x+1)(§> y=x+1-1In2
1 3
19 y:ezﬁc—3 x:?y:‘/;
1 _ _
20 |y = xex x=0, y=x+1
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21 — pX°-1 =0
y=e y
22 y:xzex y=0

X x=10g22’ y=--
23 = 2" -5 ’ 41
Y= a3 2% y=-3
2
x“—3
Inx
25 |y =— x=0 y=0
X2
2 _1+Inx x=e? y=1
y_lnx—Z ’
Inx
27 |y =— x=0, y=0
Vx
28 |y =InIn(3x — 2) x=1
2 sin x 0
y = Y=
X
2x
30 y=arctanx2_1 y=0
31 |y =Inarctanx x=0, y=linz
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32 |y =arctanlnx y=3

x?—-9
x%—4

33 | y = arcsin

2x
x2+1

34 | y = arccos
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